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OCR (A) AS Chemistry

5 Alcohols, halogenoalkanes and analysis

1
(a)
primary ( alcohol ( and a ketone. (

(b)
(i)
C3H6O2 (


(ii)
(primary) alcohol (


(iii)
acidified ( potassium dichromate ( (H+/Cr2O72–)



(iv)
Colour change from orange to (dark) green (


(v)
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(


(vi)
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1 mark for the correct organic product ( and the second mark for balancing the equation. (
2
(a)


	C
	:
	H
	:
	O

	83.93/12
	:
	11.92
	:
	4.15/16

	6.99
	:
	11.92
	:
	0.26 (

	27
	:
	46
	:
	1




empirical formula = C27H46O



empirical mass = (12 ( 27) + 46 + 16 = 386 (


therefore molecular formula is also C27H46O (

(b)
Secondary alcohol ( and alkene(

(c)
(i)
D (


(ii)
E (


(iii)
A (


(iv)
B (


(v)
C (


(vi)
There is no correct response to this. The compound that would be formed is one of the two isomers shown below.
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(a)
(i)
C5H12O (


(ii)
C5H11OH + HCl ( C5H11Cl + H2O (




or
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(b)
The organic compounds would be in the upper layer because their densities are lower than the density of water. (

(c)
The only gas given off by NaHCO3 is CO2 (and it is formed by reacting with any unreacted/excess HCl(aq). ( Remember that an acid + carbonate produces salt and water and CO2. 


(d)
(i)
67(C (


(ii)
Moles of 2-methylbutan-2-ol used: 4.4/88 = 0.05 (




Moles of 2-chloro-2methylbutane produced: 3.73/106.5 = 0.035 (




% yield (0.035/0.05) ( 100 = 70% (


(iii)
Mass of all products = C5H11Cl + H2O = 106.5 + 18 = 124.5





mass of = C5H11Cl = 106.5 (




atom economy = (106.5/124.5) ( 100 = 85.5 % (
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